Solutions to

Exam: Finansiell Risk, MVE 220/MSA400
Thursday, May 31 2018, 8:30-12:30
Jour: Ivar Simonsson ankn 5325

Allowed material: List of Formulas, Chalmers allowed calculator.

Problems 1-4: Multiple choice, only hand in table with answers
Only one correct answer. Correct answer gives 5 points, no answer ("don’t
know") gives 0 points and wrong answer gives -1 point (more than one
answer automatically gives -1 point).

Uppgift | a | b | ¢ | d | e | f(Don’t know) | Points
1 O[O0 D0 0
2 00|00 O
3 OO 0| O O
4 0|00 O O

Problems 5-10: Hand in full solutions
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